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QUESTION 1

After an emergency, what does the Restore computer button do on the App Control Home page? 

A. Move all computers to the original Enforcement level 

B. Move all computers to High Enforcement level 

C. Move all computers to Low Enforcement level 

D. Move all computers to Medium Enforcement level 

Correct Answer: A 

 

 

QUESTION 2

An authorized administrator plans to remove the App Control agent from a computer. Which Enforcement Level must a
computer be in before the agent can be uninstalled? 

A. Visibility 

B. None (Disabled) 

C. Any Enforcement Level 

D. Low Enforcement 

Correct Answer: C 

 

 

QUESTION 3

An analyst is investigating a specific alert in Endpoint Standard. The analyst selects the investigate button from the alert
triage page and sees the following: 
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Which statement accurately characterizes this situation? 

A. These events are tied to an observed alert within the user interface. 

B. The policy had no blocking and isolation rules set. 

C. The events shown will all have the same event ID, correlating them to the alert. 

D. Each event listed contributed to the overall alert score and severity. 

Correct Answer: D 

 

 

QUESTION 4

Which actions are available for Permissions? 

A. Approve, Upload, No Upload 

B. Deny Operation, Terminate Process 

C. Allow, Allow and Log, Bypass 

D. Performs any Operation, Runs or is running 

Correct Answer: C  

 

QUESTION 5

Refer to the exhibit: 
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Which two logic statements correctly explain filtering within the UI? (Choose two.) 

A. Filtering between fields is a logical OR 

B. Filtering within the same field is a logical AND C. Filtering between fields is a logical AND 

D. Filtering between fields is a logical XOR 

E. Filtering within the same field is a logical OR 
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Correct Answer: AD 
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